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Tenmpest# show int fcl/26 fcl/26 is trunking Hardware is Fibre Channel, SFP is short wave | aser
wo OFC (SN) Port WAN is 20:1a:00: 2a: 6a: b9: d2: 30 Peer port WA is 20: 1a: 00: 2a: 6a: 56: f0: 00 Admi n
port node is auto, trunk nmode is on snnp link state traps are enabled Port node is TE Port vsan
is 2 Admin Speed is auto Operating Speed is 4 Gops Rate npde is dedicated Port flowcontrol is
R RDY Transnit B2B Credit is 32 Receive B2B Credit is 64 B2B State Change Nunmber is 14 Receive
data field Size is 2112 Beacon is turned off Logical type is core Trunk vsans (adm n all owed and
active) (2) Trunk vsans (up) (2) Trunk vsans (isolated) () Trunk vsans (initializing) () 5
m nutes input rate 160 bits/sec, 20 bytes/sec, 0 frames/sec 5 nminutes output rate 96 bits/sec, 12
byt es/sec, 0 franes/sec 22464 frames input, 1801536 bytes 0 discards,0 errors O invalid CRC FCS, 0
unknown class 0 too long,0 too short 22977 frames output, 1318564 bytes 0 discards,0 errors O
input OLS,0 LRR O NOS,2 loop inits 1 output OLS,2 LRR, 0 NOS, 1 loop inits 64 receive B2B credit
remai ni ng 32 transmit B2B credit remaining
28 low priority transmit B2B credit remaining
Interface |ast changed at Thu Jul 20 15:40: 32 2017

Last clearing of "show interface" counters : never
Tenpest #
239 i Bolls & & T2I0] 640|T H2 M &2l 5621 Ho 2 EAIELICH

Maest ro# show int fcl/ 26
fcl/ 26 is trunking
Hardware is Fibre Channel, SFP is short wave | aser w o OFC ( SN)



Port WA is 20:1a: 00: 2a: 6a: 56: f0: 00

Peer port WA is 20:1a:00: 2a: 6a: b9: d2: 30

Admi n port node is auto, trunk node is on
snnp link state traps are enabl ed

Port node is TE

Port vsan is 2

Speed is 4 Gops

Rat e node is dedicated

Transmit B2B Credit is 64

Receive B2B Credit is 32

B2B St ate Change Number is 14

Receive data field Size is 2112

Beacon is turned off

admn fec state is down

oper fec state is down

Trunk vsans (admin allowed and active) (2)

Trunk vsans (up) (2)
Trunk vsans (i sol at ed) @)
Trunk vsans (initializing) @)

5 mnutes input rate 160 bits/sec, 20 bytes/sec, 0 franes/sec
5 mnutes output rate 216 bits/sec, 27 bytes/sec, 0 frames/sec
23189 franes input, 1330368 bytes
0 discards, O errors
0 invalid CRC FCS, 0 unknown cl ass
0 too long, 0 too short
22677 franes output, 1818076 bytes
0 discards, O errors
1 input OLS,2 LRR 0 NCS,3 loop inits
1 output OLS,0 LRR, 0 NCS, 1 loop inits
32 receive B2B credit renaining
64 transmit B2B credit remaining
56 low priority transmit B2B credit remaining
Interface | ast changed at Wed Jul 19 16:39:58 2017

Last clearing of "show interface" counters 1w 5d

Maest r o#
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switch# show int fcl/47
fcl/47 is up
Hardware is Fibre Channel, SFP is short wave |laser w o OFC (SN)
Port WM is 20:2f:00: 2a: 6a: 56: f0: 00
Adm n port node is F, trunk node is on
snnp link state traps are enabl ed
Port node is F, FCID is 0x570f00
Port vsan is 2
Speed is 4 CGops
Rate node is dedicated
Transmt B2B Credit is 3
Receive B2B Credit is 32



Receive data field Size is 2112
Beacon is turned off
admn fec state is down
oper fec state is down
5 mnutes input rate 0 bits/sec,0 bytes/sec, 0 frames/sec
5 mnutes output rate 16 bits/sec,2 bytes/sec, 0 franes/sec
1220 frames input, 74256 bytes
0 discards, O errors
0 invalid CRC FCS, 0 unknown cl ass
0 too long, 0 too short
2231 frames out put, 220056 byt es
0 discards, O errors
1 input OLS,1 LRR 0 NCS,0 loop inits
1 output OLS,0 LRR, 1 NCS, 0 loop inits
32 receive B2B credit renaining
3 transmit B2B credit remaining
3 low priority transmit B2B credit remaining
Interface |ast changed at Wed Jul 19 15:56: 15 2017

Last clearing of "show interface" counters 1w 5d
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Leonard(config-if)# show int fc3/14 counter
fc3/14
5 mnutes input rate 320 bits/sec, 40 bytes/sec, 3 frames/sec
5 mnutes output rate 2688 bits/sec, 336 bytes/sec, 3 franes/sec
1416819 franmes input, 77233324 bytes
0 discards, 0 errors, 0 CRC FCS
0 unknown class, 0 too long, 0 too short
1416813 frames output, 138598368 bhytes
0 discards, O errors
0 tineout discards, O credit |oss
53 input OLS, 85 LRR, 119 NOS, 0 loop inits
77 output OLS, 7 LRR, 93 NCS, O loop inits
14 link failures, 37 sync |losses, 2 signal |osses
140 Transmt B2B credit transitions to zero
92 Receive B2B credit transitions to zero
0 2.5us TxWait due to lack of transmt credits
Percentage Tx credits not available for last 1s/1m 1h/72h: 0% 0% 0% 0%
500 receive B2B credit remaining
64 transmit B2B credit remaining
64 low priority transmit B2B credit remaining



Last clearing of "show interface" counters : never
Leonard(config-if)#

tx-credit double-queue AHE:

o
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Leonard(config)# show system default swi tchport
System default port state is down

System default trunk node is on

System default link failure syslog logging level is 5
System default tx credit queue type is O
Leonard(config)# systemdefault tx-credit doubl e-queue
Leonard(config)# show system default swi tchport
System default port state is down

System default trunk node is on

System default link failure syslog logging level is 5
System default tx credit queue type is 1
Leonard(config)# int fc3/14

Leonard(config-if)# shut

Leonard(config-if)# no shut
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Leonard(config-if)# show int fc3/14 counter
fc3/ 14
5 mnutes input rate 320 bits/sec, 40 bytes/sec, 2 frames/sec
5 mnutes output rate 256 bits/sec, 32 bytes/sec, 2 franes/sec
1420613 franmes input, 77459300 bytes
0 discards, 0 errors, 0 CRC/ FCS
0 unknown class, 0 too long, 0 too short
1420607 frames output, 138968464 bytes
0 discards, O errors
0 tineout discards, O credit |oss
54 input OLS, 87 LRR, 122 NCS, O loop inits
79 output OLS, 7 LRR, 95 NOS, O loop inits
14 link failures, 38 sync |osses, 2 signal |osses
143 Transnmit B2B credit transitions to zero
94 Receive B2B credit transitions to zero
0 2.5us TxWait due to lack of transmt credits
Percentage Tx credits not available for last 1s/1m 1h/72h: 0% 0% 0% 0%
500 receive B2B credit remaining
64 transmit B2B credit remaining
56 low priority transmit B2B credit remaining
Last clearing of "show interface" counters : never
Leonard(config-if)#
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Tenpest# show int fcl/13 counter
fcl/ 13
5 mnutes input rate 2624 bits/sec, 328 bytes/sec, 3 franes/sec
5 mnutes output rate 1504 bits/sec, 188 bytes/sec, 3 franes/sec
1343331 frames input, 131489464 bytes
0 discards, 0 errors, 0 CRC/ FCS
0 unknown class, 0 too long, 0 too short
1343332 frames output, 72878124 bytes
0 discards, O errors
0 tineout discards, O credit |oss
9 input OLS, 2 LRR, 0 NOCS, O loop inits
12 output OLS, 20 LRR, 9 NCS, O loop inits
9 link failures, 0 sync |osses, 0 signal |osses
66 Transnmit B2B credit transitions to zero
24 Receive B2B credit transitions to zero
0 2.5us TxWait due to lack of transmt credits
Percentage Tx credits not available for last 1s/1m 1h/72h: 0% 0% 0% 0%
64 receive B2B credit renaining
500 transmit B2B credit remaining
485 low priority transmit B2B credit remaining
Last clearing of "show interface" counters :never
Tenpest #
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Leonard(config)# int fc3/14
Leonard(config-if)# switchport fcrxbbcredit 112

Tenmpest# show int fcl/13 count
fcl/ 13
5 mnutes input rate 1024 bits/sec, 128 bytes/sec, 3 franes/sec
5 mnutes output rate 1536 bits/sec, 192 bytes/sec, 3 franes/sec
1360026 frames input, 133105756 bytes
0 discards, 0 errors, 0 CRC/ FCS
0 unknown class, 0 too long, 0 too short
1360027 frames output, 73885304 bytes
0 discards, O errors
0 tineout discards, O credit |oss
14 input OLS, 2 LRR, 0 NOS, O loop inits
17 output OLS, 30 LRR, 14 NOS, O loop inits
14 link failures, 0 sync |osses, 0 signal |osses
91 Transnit B2B credit transitions to zero
34 Receive B2B credit transitions to zero
0 2.5us TxWait due to lack of transmt credits
Percentage Tx credits not available for last 1s/1m 1h/72h: 0% 0% 0% 0%
64 receive B2B credit renaining
112 transmit B2B credit remaining
98 low priority transmit B2B credit remaining
Last clearing of "show interface" counters :never
Tenpest #
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